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NgLEHREF 140,941,0008%x1.65% = 2,325
MEAHF 140,941,000¥x1.1% = 1,550
Ar|e%Es2 4,700,3822x10.25% = 482
09 7|Et=2|=44H| 19,440 19,440 0
o =¥l YRS 2Ist S20HA| 8,000 x158x12YUx12E = 17,280
o O|=H| - A|5tete| AFPUH M| 2= 1Y
150,000 x2H%23] = 600
Z1A[9f2] m=H|, 58| 1,560
71AHof2] A= Y 150,000 x2H=23| = 600
St R 222 2ot SET0HAH|[(F 7| A 242))
8,000 x2Hx5Ux 122 = 960
nEEH| 1,000 1,000 0
7|8 2{Em S| 1,000 1,000 0
ZH, MOjL, 27| W= 1,000,000 = 1,000
FA| A H| 81,079 51,090 29,989
SHR2H| 81,079 51,090 29,989
o Aoty 22|d3 F4E010 7+ 130,000&%20714 = 2,600
o Alote Z2|A3 Haje +Y 30,000¥x20714 = 600
0 Alste ZZRAIAH O] H2|H| 80,000&x20744 = 1,600
0 Alstrae FEHALH RAEH| 1,357,00094x12¢ = 16,284
0 Aoty BRESA|E RAEH| 2,000,0009x871 A = 16,000
0 SAP| FA|&eH| 1,000,000% = 1,000
o WA I T2l {2 225,000x123| = 2,700
o A|YZ7|Y LS A BEAAH FAE4H| 9,920,000x14] = 9,920
Aeofte| Z2 08 FA&a2(| 200,000¢x12€ = 2,400




AR CfEAL
2 : (700 AHIS g (710) YIS
M : (751) Qurately S : (214) 2MRADYH ol : 32
ni 2 2 L
T oae | ZUE | sz
0 Aot FLARAAH- s/w A 22| 581,230x12¢ = 6,975
o BT AsteEY FA| 22 800,000¥x1074x23]| = 16,000
0 HUZ0[EAE RAETH|(SEAIE AEYE HE S)
1,250,000 x471 4 = 5,000
300 FAo|H 1,454,041 1,506,592 A52,551
304 ¢aRY=E S 350,153 295,884 54,269
01 ¢gRY= 308,823 261,482 47,341
o H=RYZ (G2t 2t "2 1,808,509,000¢x9% = 162,766
o BEXS (Gt etk =1 1,808,509,000¥%3.076% = 55,630
o E|2YREZ(oteat,eti G21F)  1,808,509,0008%4.834% = 87,424
o AMsHEAEEZ(Stent A H2I)  1,808,509,0004%0.166% = 3,003
02 =UHZEHRELF 41,330 34,402 6,928
o RYUHLEALREZ (Gt} 1,124,022,0008%3.335% = 37,487
o LRIV QYL E (st 37,487,0009x10.25% = 3,843
317 37| EEARES 1,103,888 1,203,888 A100,000
0 SIT-ZAER Qe YsF 55,000,000,000%x2% = 1,100,000 1,103,888 1,203,888 A100,000
o HIZO|EAEZ} 2223 AH BEHF 10EXx720¥%x30%x20071|x9d = 3,888
770 ggeHlg 200,000 200,000 0
779 7|EtEYRHIE 200,000 200,000 0
771 JEtEYelH|E 200,000 200,000 0
o UFA|ZEEIMOIZE B2 FLUXYH 7|5 200,000 200,000 0
600,000,000 x1/3x14 = 200,000
780 Sd¥&d 14,400 19,400 25,000
782 HUI|ErHEA 14,400 19,400 25,000
758 MI|E+dEA 14,400 19,400 A5,000
O of=2t 14,400 14,400 19,400 A5,000
o HHAL SIEZAIRR WRHF 80,000¥Ix153|x12¥ = 14,400
800 OflH|H]| 10,000 10,000 0
801 Of|H|H]| 10,000 10,000 0
801 ofl5|H| 10,000 10,000 0
o Oj|H|H| 10,000,000 = 10,000 10,000 10,000 0




